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LINEAR
1x1 = 2594.9 /93 =27.902 points per calendar da
1x2 = (2594.9 /93 )/2 =13.951 points per calendar day
1x3 = (2594.9 /93 )/3 = 9.3 points per calendar day
1x4 = (2594.9 /93 )/4 = 6.975 points per cajendar day i
NW %8 = (2594.9 /93 )/8 = 3.4B77 points pey calendar day r|||'||||I
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PARABOLA SQUARE

1x1= x*2/(9342/2594)
1x2 = x*2 [ (2* (93A2/2594))
1x3 = xA2/ (3*(9342/2594))
| 1x4 = x*2 ]/ (4*(9372/2594))
I'H\ N ‘\w\]xs = XA2/ (8% (9342/2594))
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SQUARE ROOT

Ix1 = x™.5 x (2594/sqrt(93))
1x2= x*.5x (2594/sqrt(93)) / 2
1x3 = x*.5 x (2594/sqrt{93)) / 3

\ 1x4 = x*.5 x (2594/sqrt(93)) / 4
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wxs 05 x (254sart(93) /8
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SEMI PARABOLA

1x1 = x* 1.5 x (2594/ 93*1.5)
1x2= x*1.5 x(2594/93*1.5)/2
1x3 = x*1.5 x (2594/ 93"1.5) /1 3

1xd4 = x*1.5x (2594/ 9341.5) /1 4
= x X .
i *| 8 *1.5x (2504/ 830.5)/8
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SEMI SQ ROOT

1x1= x* .75 x ( 2594/93~.75)
1x2= x™ .75 x ( 2594/93~.75) /2
1X3= x*.75x(2594/93~.79) /3
1xd = x* .75 x ( 2594/93~.75) / 4

iw \W"s = x*.75x(2594/937.75) I8
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SEMI SEMI PARABOLA

1x1 = x* 1.25 x (2594/9341.25)
1x2= x*1.25 x (2594/9341.25) / 2
1x3= x* 1.25 x (2594/9341.26) / 3
Ixd = x*1.25 x (2504/93~1.25) | 4
FIB = x*1.25 x (2504/93°1.25)/ 8
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